Nombres et Racines Quatriemes (J)

Trouvez la racine ou calculez I'exposant.

42401 - Hesel - 41

Y625 = 481 =_ ¥10000

41296 - 44096 - 46561

¥25¢ = 40000 = 4625

Y16 - 4625 = Aes6l =
74 = 144 = 5% =
7= 13* = 1% =
24 = gt = 15 =
34 = 13* = 15% =
14 = 124 = 20% =
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Nombres et Racines Quatriemes (J) Solutions

2 401

Y625

1296

Y256

Trouvez la racine ou calculez I'exposant.

= 2401

= 2401

¥4 096

10 000

Y625

12¢

= 38416

= 28561

= 4096

= 28561

=20736

20°

=625

= 50625

= 50625

= 160000
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